WEST BATON ROUGE PAR

PLANT ENTERPRISES PRODUCTION						
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY	110440015	110105	11010	11044041011	i i cusui c	, and
Pulpwood						
Hardwood				10,733	cords	
Pulpwood (Total)				10,733	corus	
Saw Timber				10,755		
Hardwood				643 897	board feet	
Saw Timber (Total)				643,897	ooura reet	
Total Pulpwood, Chip & Saw	7			015,077		\$991,080
Saw Timber FOB Mill	>					\$771,000
Total Forestry Stumpage						\$361,823
Forestry (Total)						\$991,080
FEED GRAINS						+j
Corn	*	681.0	130.00	88,530	bu.	\$200,963
Feed Grains (Total)		681.0		,		\$200,963
HAY FOR SALE						
Grass	6	2,000.0	4.00	8,000	tons	\$400,000
Hay for Sale (Total)		2,000.0				\$400,000
HOME GARDENS	400	,				\$120,000
PECANS						
Improved	*	30.0	150.00	4,500	lbs.	\$5,850
Native	30	300.0	100.00	30,000	lbs.	\$30,000
Pecans (Total)		330.0				\$35,850
SOYBEANS	21	7,332.0	37.00	271,284	bu.	\$1,684,674
SUGARCANE						
Raw Sugar	25	15,228.0	6,055.00	92,205,540		\$11,202,973
Molasses		15,228.0	182.00	2,771,496	gal.	\$401,867
Sugarcane (Total)		15,228.0				\$11,604,840
WHEAT	10	2,086.0	57.00	118,902	bu.	\$386,432

PLANT ENTERPRISES PRODUCTION

Page 1 of 4

WEST BATON ROUGE PAR TOTAL ALL PLANT ENTERPRISES

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE						
Crawfish (Farm)	*	1,250 Acres in Prod.	687,500	lbs.	\$412,500	
Other Species	*	20 Acres in Prod.	4,000	lbs.	\$640,000	
Aquaculture (Total)					\$1,052,500	
FUR ANIMALS			191	pelts	\$1,402	
ALLIGATORS (WILD)			457	-	\$9,608	
HUNTING LEASES						
Waterfowl	*	1,250 No. Acres		acre	\$62,500	
		Leased			,	
Hunting Leases (Total)					\$62,500	
HONEY	19	50 No. Hives	45,000	lbs.	\$33,300	
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES		-		\$1,159,309	

WEST BATON ROUGE PAR

	ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value		
CATTLE & CALVES								
Steer Calves								
300-400 lbs.					head	\$81,935		
400-500 lbs.					head	\$195,866		
500-600 lbs.				458	head	\$256,056		
600-700 lbs.				206	head	\$131,222		
Steer Calves (Total)						\$665,079		
Heifer Calves								
300-400 lbs.				190	head	\$76,601		
400-500 lbs.				427	head	\$198,587		
500-600 lbs.				518	head	\$273,419		
600-700 lbs.				104	head	\$62,192		
Heifer Calves (Total)						\$610,799		
Yearling Cattle								
600-700 lbs.				150	head	\$95,550		
700-800 lbs.				50	head	\$34,500		
Yearling Cattle (Total)						\$130,050		
Cow-Calf Pairs					pair	\$95,000		
Cull Cows				200	head	\$82,127		
Cull Bulls				10	head	\$9,185		
Cattle & Calves (Total)	75	2,900 No	. Cows			\$1,592,240		
HORSES								
Brood Mares								
Race Horses	*		. Brood Mares		head	\$80,000		
Show Horses	*		. Brood Mares		head	\$28,000		
Recreation Horses	25	100 No	. Brood Mares	75	head	\$112,500		
Brood Mares (Total) Stud Fees						\$220,500		

ANIMAL ENTERPRISES PRODUCTION

Page 3 of 4

WEST BATON ROUGE PAR

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
	Producers	Production	Production	Measure	value	
HORSES						
Race Horses		1 No. Stallion		mares bred	\$30,000	
Show Horses		2 No. Stallion		mares bred	\$45,000	
Recreation Horses		3 No. Stallion	ns 50	mares bred	\$10,000	
Stud Fees (Total)					\$85,000	
Race Horses	*			head	\$100,000	
Show Horses	10		-	head	\$60,000	
Recreation Horses	250		300	head	\$450,000	
Horses (Total)					\$915,500	
SHEEP						
Show Lambs				head	\$2,750	
Cull Sheep				head	\$110	
Sheep (Total)	*	8 No.Breedin	ng		\$2,860	
		Ewes				
GOATS			_			
Show Goats				head	\$1,480	
Slaughter Goats				head	\$4,200	
Cull Goats			10	head	\$600	
Goats (Total)	6	60 No. Does			\$6,280	
SWINE						
Feeder Pigs				head	\$3,450	
Slaughter Hogs				head	\$15,600	
Culls	<u>_</u>		15	head	\$1,680	
Swine (Total)	8	25 No. Sows			\$20,730	
TOTAL ALL ANIMAL E					\$2,537,610	
WEST BATON ROUC	JE PARISH TOTA				\$19,120,757	

ANIMAL ENTERPRISES PRODUCTION

Page 4 of 4